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Section A (10 x 2 ma rks)

For each question, four options are given. Choose the carrect answer and write its

number (1,2, 2 or 4) in the bracket provided.

1. Six thousand and two hundred written as 3 numeral is

(1) 2008

(2) - 6002

(3) 6020

4y 6200 ( )
2. In 2579, the dig.it 5 stands for

(1) 5 ones

(2) 5 tens

(3) 5 hundreds

(4) = 5thousands ‘ ( )
3. In 7629, which digitis in the hundreds place?

(- 9

(2 2

(3 s L

4 7 ( )
4. Bthousands « 10'téns +1one =

(1) 8001 |

(2) . 8010

(3) - 8101 _ _

(4) 8110 ' | ( )
5. The difference between two numbers is 50. If the smaller number i¥'25, what is

the bigger number?

(M 25

2 75 7

(3 100 o

(4 125 . _ . ( )
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6.  Which one of the following is the largest?

(1)
(2
(3
-4

7. 12lessthan7 x4 is equal to

(1)
(2)
3)
(4)

366

36-8

6x6

6+6+6+6+6 ( )

3x4
12x3
12-7-4

4+4+4+4 ( )

8. MrKee had 7 boxes of cookies. There were 6 almond cookies in each box. He
ate 35 almond cookies. How many cookies were left?

(1)
(2)
(3)
(4)

.
42
47
77 ( )

9.  Jerryhas $10. How Mmany apples can he buy if 3 apples cost $17

(1)
(2)
(%)
@)

10
13

30 |
40 ¢ )

10.. What is the missing number in‘the box?

5] 4 1 7 8
54 36 63 7?
(1) 5
@ 45 L
(3) 56
@)
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Section B (9 x 2 marks)

For each Question, write your answer in the box provided. Give your answer in the
units stated.

1. Whatis 3 629 Jess than 6 000? _}

12.  Armra nge the numbers in order. Begin with the greatest.

7251, 7152 | 7215 . 7195

—_—_— —_— ]
greatest srhallest

13. Max has 859 marbles, Sulin has 96 marbles more than Maxand Dave.has:975. .
: marb) i

Mo e

15.  Mrs Li had 22 €ggs. She needs 5 eggs to bake 1 cake and 3 eggs to bake 1 pie.
7 TsAEbaked 2 cakes  how many pies did she bakes

pies

| | -
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16. There are 6 rows of 5 chairs each. Mr Jeremiah wants to arrange the chairs in 3
rows. How many chairs should he arrange in each row? :

chairs

17.  May had $100. She bought 7 books which cost $9 each. How much mbney had
she left? :

18.  The concert ticket is $18 for 2 aduits and $9 for 3 children. How much must Mrs
- Lai pay if she attends the concert with 9 children? '

$

19.... Study the pattern below. How many balls are there in the 6% figure?

balls
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Section ¢ (4x3 marks)

20.  There were 4 875 fiction books in the library. There were 896 fewer non-fiction
books A How many books were there altogether?

'—t_l'lﬁf\ {;Cﬁbn hﬂ@

21.  Googol and Noogol saved
Noogol save than Googol?
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$6 148, Googol saved $2 529 How much more dig



22. Atasale, abag cost $36 and 6 story books cost $48. How much did John
spend if he bought 1 bag and 1 story book?

23.  Mrs Libaked 81 cookies. She put 9 cookies into each box. She sold each box
for $5. How much money did she collect?

% ——The End---

,
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11.

13.

15.

17.

19.

20.

Answer Sheets
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3) 3
8§ 1

2371

4 2) 3

3 4
6000 — 3629 =
Max = 859 marbles

4)
9

Sulin = 8359 + 96 = 955 marbles
1930 — 859 = 1071 more mables

22 eggs

1cake = 5eggs

2cakes = 5 g 2 = 10eggs

22 eggs - 10 eggs = 12 eggs

Jeggs = 1 pie
12 eggs

7boos x $9 =
$(100 — 63)

£
&
I

9 balls
15 balls
6" = 21 balls

U
=
li

Fiction Books

Non Fiction books

4 pies

$63.00

= $37.00 left

= 4875

= 4875 — 696

- 4875 + 4179 = 9054 books -

There are 9054 books altogether. -

&
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3
3

12

14.

16.

8.

5 2
10) 4

7251, 7215, 7152, 7125

C1=6

6 x 5 = 30 chairs
30 = 3 = 160 chairs

2 adults $18.00

1 adult $9.00

3 childrten = $9.00

1 childten = $3.00

9 children = $27.00
$(9.00 + 27.00) = $36.00

[T

= 4179



P e e

21.

22

23,

Googol + Noogol = $6418.00

Noogol = $2529.00
= %6418 — 2529.00)
= $3619.00

$(3619 — 2529) = $1090.00

Noogol saved $j 090.00 more than Googol.

$36.00
$48.00
$48.00 = 6 = $8.00
$44.00

| bag

6 story books

1 story book
$(36.00 + 8.00)

oo

He spend $44.00
81 + 9 = 9 boxes
9 x $5.00 = $45.00

She collected $45.00
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